SOME ALGEBRA
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RULES FOR DERIVATIVES

Chain Rule, special forms:
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BASIC INTEGRALS
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sinzdr = —cosx + C
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sec’ rdx = tanz 4 C
/secx tanz dx = secx + C
LINEAR SUBSTITUTION
If F(z) is an antiderivative of f(z), then
1
/f(k:x+b)da:= EF(k:x+b)+C
. 1.
As in, /cos(3x) dx = 3 sin(3z) + C
1 (5z +2)%/2
5 3/2
LIFE SAVERS

/\/5x+2d:ﬂ: +C=...

Complete the square: 22 + 2bx = (x + b)? — b?

Sometimes the formula (a & b)? = a? + 2ab + b?
must be read backwards: a? £ 2ab+b? = (a £ b)?

To get rid of roots: (a +b)(a —b) = a® — b?

These help with trig integrals:

sin? = 11 — cos 2z]
cos? x = 1[1 + cos 2z]
sinzcosxr = % sin 2z

sin2z +cos?z =1

And two more: 5 9
tan“z + 1 =sec’x



